



$\frac{1}{2} \frac{d}{dt} \left( \frac{1}{2} m v^2 \right) = 496 \frac{d}{dt} \left( \frac{1}{2} m v^2 \right) -$   
 $m \frac{d}{dt} \left( \frac{1}{2} m v^2 \right) = r \frac{d}{dt} r m 12 \frac{d}{dt} r$   
 $\frac{d}{dt} O \left( \frac{1}{2} m v^2, 24 m \frac{d}{dt} r, \dots \right), \frac{d}{dt} Br$   
 $\frac{d}{dt} \frac{1}{2} m v^2 \times \times k = \dots \frac{d}{dt} \frac{1}{2} m v^2$   
 $r \frac{d}{dt} M = r - \frac{d}{dt} 11, \frac{d}{dt}$   
 $\frac{d}{dt} \frac{1}{2} m v^2, r, r \frac{d}{dt} r, \frac{d}{dt} k, \dots \frac{d}{dt} \frac{1}{2} m v^2$   
 $\frac{d}{dt} \frac{1}{2} m v^2 = m \frac{d}{dt} r \cdot T \frac{d}{dt} \frac{1}{2} m v^2 = \frac{d}{dt} \frac{1}{2} m v^2$   
 $m \frac{d}{dt} \frac{1}{2} m v^2 = \frac{d}{dt} \frac{1}{2} m v^2 = a =$   
 $c = \dots, \frac{d}{dt} \frac{1}{2} m v^2 = r \frac{d}{dt} \frac{1}{2} m v^2 u =$   
 $\frac{d}{dt} \frac{1}{2} m v^2 = \frac{d}{dt} O = \frac{d}{dt} \frac{1}{2} m v^2$   
 $\frac{d}{dt} \frac{1}{2} m v^2 = \frac{d}{dt} \frac{1}{2} m v^2 = 12 a =$   
 $c = \dots, u = \dots I \frac{d}{dt} \frac{1}{2} m v^2, \frac{d}{dt}$   
 $\frac{d}{dt} \frac{1}{2} m v^2 = \frac{d}{dt} \frac{1}{2} m v^2 = \frac{d}{dt} \frac{1}{2} m v^2 = m$   
 $r \frac{d}{dt} \frac{1}{2} m v^2 = 0.03 \frac{d}{dt} / \cdot Fr = r \frac{d}{dt} \frac{1}{2} m v^2$   
 $\frac{d}{dt} m = r, \frac{d}{dt} \frac{1}{2} m v^2, \frac{d}{dt} \frac{1}{2} m v^2 = \frac{d}{dt} \frac{1}{2} m v^2$   
 $\frac{d}{dt} \frac{1}{2} m v^2 = O(L^-) \frac{d}{dt} \frac{1}{2} m v^2 L = \frac{d}{dt} \frac{1}{2} m v^2 = 13.$   
 $T \frac{d}{dt} r m = \frac{d}{dt} \frac{1}{2} m v^2 = \frac{d}{dt} \frac{1}{2} m v^2 = 0.99 m$

T, ...  
...  
... Fr, ...  
...

